
Image Item # Description Color / Finish Spec Part #

White 10125110

Clay 10128011

Black 10128012

White 10157159

Clay 10157161

Black 10157160

3LB 10127988

4LB 10127989

5LB 10127990

6LB 10127991

7LB 10127992

8LB 10127993

10LB 10127994

12LB 10127995

13LB 10127996

14LB 10127997

16LB 10127998

18LB 10127999

20LB 10128000

22LB 10128001

24LB 10128002

26LB 10128003

28LB 10128004

30LB 10128005

32LB 10128006

34LB 10128007

36LB 10128008

38LB 10128009

40LB 10128010

Zinc 10157189

White 10127855

Clay 10127856

10125109

White 10128026

Clay 10128027

Black 10128028

White 10128037

Clay 10128038

Black 10128039

4
Single Fin Weatherstrip

(Sill)

5
Fixed Meeting Rail

Weatherstrip

1

Keeper

Keeper Screw
#6 x 1-1/4" Screw (Qty 2)

2

Balance

Balance Screw
#8 x 7/8" Screw (Qty 2)

Balance Cover

3 Foam Chimney Plug

07/25 1

Single Hung (Operating)
Parts Identification 

New Next Dimension 



Image Item # Description Color / Finish Spec Part #

White 10125111

Clay 10128013

Black 10128014

White 10157164

Clay 10157166

Black 10157165

White 10125112

Clay 10128015

Black 10128016

White 10125113

Clay 10128017

Black 10128018

10125106

10157175

White 10128029

Clay 10128030

Black 10128031

White 10054566

Clay 10054803

Black 10054764

White 10127831

Clay 10127832

Black 10127833

White 10127834

Clay 10127835

Black 10127836

White 10127837

Clay 10127838

Black 10127839

Black 10144269

11

7/8" Glazing Bead

(Standard)

1" Glazing Bead

(Impact)

1-1/4" Glazing Bead

(Triple IG)

Bottom Rail

 Bulb Weatherstrip

8

Pivot Bar

Pivot Bar Screw
#8 x 1/2" Screw (Qty 4)

9 Single Fin Weatherstrip

10

7

Left Submarine Tilt Latch

Right Submarine Tilt Latch

6

Lock

Lock Screws
#6 x 3/4" Screw (Qty 2)

Laminated Frame

Tower Cover
12

07/25 2

Single Hung (Operating)
Parts Identification 

New Next Dimension 


